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ENE 9 6 3 3 3 3 100.0% 3 3 0.7
RHIEH 6 3 3 0 3 0 100.0% 2 0 05
R (RF) 3 4 3 1 3 1 100.0% 1 1 13
fRE2ZEM 4 22 2 20 2 17 86.4% 0 4 48
wREAEL 2 8 0 8 0 8 100.0% 0 1 4.0
HEEL(DEHES) 1 3 0 3 0 3 100.0% 0 0 30
E#HE 1 | mEEuL |
EERELT 1 19 2 17 2 16 94.7% 0 1 18.0
BEED 2 3 0 3 0 3 100.0% 0 2 15
BPEAL 1 7 3 4 3 4 | 100.0% 0 1 7.0
EHIEH (BHE) 4 | mEsEuL |
HeELt(REAIXEEME) 1 5 4 1 4 1 100.0% 1 0 50
REL 1 4 1 3 1 3 100.0% 1 0 4.0
[EERE M ZE R T 1 3 3 0 3 0 100.0% 1 0 30
= (BHEE) 4 3 2 1 1 1 66.7% 0 1 0.5
EANE (BEE) 1 | EHELL |
T (B A B E) 2 [ mEasL |
EFIE (BREE) 4 2 1 1 1 1 100.0% 1 0 0.5
wREEL (BEE) 1 4 0 4 0 4 100.0% 0 1 40
H2ELWEHER) (BEE) 1 2 0 2 0 2 100.0% 0 1 20
FEHE(BRES) 1 1 0 1 0 1 100.0% 0 1 1.0
EEATEE S (RAR—Y) 1 1 1 0 1 0 100.0% 1 0 1.0




